50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Time: 3 hrs. ) By 7 Max Marks: 100

Note: Answer any FIVE full questiqénsféﬁ%osing ONE full que.s:ti(% j}om each module.

1 a
b.
2 a.
b.
c.
3 a
b.
4 a
b.
.

5

6 a.
b.

7 a.
b.

What is Physical Topology? ’W;th a neat diagram, explagn the various types of physical
topologies available in cog&puter networks. 29 (10 Marks)

With a neat diagram, expgam ‘the significance of layers i’ TCP/IP protocol suite. (10 Marks)
\

,;gw*'

OR 4
Explain LAN and. LlWAN with the help of neat diagrams. (06 Marks)
With a neat dlagram explain the five comﬁone‘;‘%ﬁts of Data Communication. (06 Marks)
Explain eu@apsulatlon and decapsulat1on m“’TCP/IP model with the help of a neat diagram.

(08 Marks)

What is an ARP? Explam the 6perat10n of ARP and 1ts packet format with suitable
“”‘ﬁ? N 4 (10 Marks)

A slotted ALOHAm net
bandwidth. Flndxghe throughput if the: system produces

(i) 1000 frames per second (11) 500 frames per secon ) (iii) 250 frames per second?

e (06 Marks)
Explain OSMA/CA protocol Wlth ‘a ﬂow diagram. ‘o (08 Marks)
Explain.| the Ethernet Frame fo at of standard Ethernet (06 Marks)

¥y 4

plam with a neat d1agram the virtual eircuit packet switched network and its various

.phases of operation & (10 Marks)
With a neat dlagram explain IPv4 Datagram format. (10 Marks)
OR
Explain with an example, the Distance Vector Routing algorithm. (10 Marks)
Explain with an example wLmk State Routing and also apply Dijkstra algorithm to find least
cost path tree. & 3 (10 Marks)
Module-4
Explain connectionless and connection oriented protocols in transport layer. (10 Marks)

With a neat dlagram, explain state transition diagram of TCP. (10 Marks)

1o0f2
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OR ‘A»««,
a. Explain Go-Back-N protocol along with sliding window diagrams.
b. Explain TCP connection establishment using three;ﬁay%hand shaking.

a. [Explain World Wide Web and Web docurpéi“fts with necessary dlagrams
b. [Explain the Architecture of Electromc maxl w1th a neat diagram. »,

"OR ;
Explam with an example, the workmggof Hyper Text Transfqv%Perocol

What is Name-address resoluti{m? With a neat diagram,:
resolution that are available. = >

o e

k %k k k %

s ’?ﬁm Wﬁr
ms““‘iﬁ

) 2 0f2 CMRIT LIB RARY
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(10 Marks)
(10 Marks)

(10 Marks)
(10 Marks)

(10 Marks)

:xplain the various types of

(10 Marks)



